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diol SHEI 22 205,724 241,595 A 35,871
101 21 24H| 71,126 40,605 30,521
04 JIZtNIZ22RHSE+ 71,126 40,605 30,521
O3 ==XN& 71,126
= 36,690& * 59 * 290 53,201
—gu2esy
36,6903 * 5H * 41 * 1.5 11,283
—AEE = 64,483,000& * 0.103 6,642
201 ZEt2FH| 98,198 93,590 4,608
01 AtR2tel 85,750 85,750 0
Oget+=2H| 84,250
—MIIBSEH REESE 7Y
1202 * 600,00004 72,000
—SENSE sEME 300,000 * 8K 2,400
—AASEAE 22 AE/H
300& = 10,0000H 3,000
—UEHo2 AElH ME 170& » 5,0000H 850
—MDISYSEIIEX 222 ME
2,000,000& * 32/ 6,000
Oodxt= 1,500
—=H HEHJI=S =2&Hl &xt
00,000& =+ 3CH 1,500
02 32244 12,448 7,840 4,608
O3&28= ¥ HAl 11,448
— AR QB AEE
33,000& * 18CH =123 7,128
— 2SR ®OI123
20,0003 * 18CH * 12& 4,320
OAEE IS X 1,000
—2ZFAIZt0 2t =2l 500,000& = 23] 1,000
202 (44| 5,400 5,400 0
01 =2 A bl 5,400 5,400 0
OMIIS8EEI HRFA
150,000& = 3 * 128 5,400
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SN BN
I‘IiH: H_:“jl%
=l

el F3EEE &d (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
301 etE a3 1,000 2,000 A 1,000
12 J|Et2 43 1,000 2,000 A 1,000
OMYIISEEI ANENS 1,000,000& 1,000
307 2I2toI & 20,000 20,000 0
05 BIZtRE 3 20,000 20,000 0
OgXIHIIZ HMeldl 20,000,000& 20,000
401 A& HIS 2 CHYI 10,000 80,000 A70,000
01 A& HI 10,000 80,000 A70,000
OZAlZtoiet Ols & XlH| 10,000
—2AIDt0Iet OIS &Xidl 10,000,000& 10,000
E2HAT 7A2e 23,010 23,010 0
201 L2 23,010 23,010 0
02 2324l 23,010 23,010 0
Os32= % HAl 2,210
—SREAN BFWELYI
70,000& * 23| 140
—CE2FHAX BEE(SSX 2E 30%)
2,000,000& 2,000
—E2HAX USIHA 70,000& 70
OXt&e gl 20,800
—S2FAX w2l & |RFHl 16,000,000 16,000
- Ed4 7 400,000& * 128 4,800
Mol =828 A 1,428,127 1,326,495 101,632
201 gEt2Ad| 4,500 4,500 0
02 32244 4,500 4,500 0
O32322= ¥ WA 3,600
—AXF=H GPS AIAE AIZ2ZE
20,000« 1500 = 123 3,600
OAN&EZEHIS X 900
—?XF=H GPSAIAE FXE=
5,000& = 1500 = 123 900
207 &I 20,000 0 20,000
01 =4 20,000 0 20,000
OMEMI| QIZtFIE AT
20,000,000& 20,000
402 QI2t X201 ™ 1,403,627 0 1,403,627
02 SIZtCH& A I 1,403,627 0 1,403,627
ORI2HH & AL I 1,403,627
—MEHIIE2 =& - 28 QU
684,311,000& = 1.04 711,684
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SN AN
M3 g2 s o Hel
SCBE-T-EE-REST (e @
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
—SASBHIIZ 27 - 29 Q12
292,729,0008 * 1.04 304,439
—SASSHIIZ M2l 22
69,0008 * 128 * 450 * 1.04 387,504
NED(ET=] 850,000 598,487 251,513
= 16,800
= 2,300
2 820,900
MEHIIZ 2 489,360 317,767 71,593
101 Q1214 243,360 256,867 A13,507
VIERTEESE=TPS 243,360 256,867 A 13,507
OME MESE =2 243,360
-2 46,0008 * 143 * 290 186,760
—gu2e4y 46,0008 * 142 * 4L 26,404
— 1= 80,0008 * 2% * 148l 2,240
—at) 282 213,164,0002! * 0.103 21,956
—gxay 1,200,008 * 5% 6,000
201 L2 Y| 45,400 39,400 6,000
01 ALR eIt 36,000 30,000 6,000
LIRS =1 36,000
— M| BEZA OHHE 50,0008 * 2007M 10,000
~HESE +TEII(PPEH) 7Y
3002 * 10,0000 3,000
~HESS MEs 222 M
2002 * 10,0000 2,000
—SASMY I MBAINEI 7Y
50,0008 + 30074 15,000
—SASMYD ZTH ANY 222 ME
2002 * 30,0000 6,000
02 ZZ2H| 9,400 9,400 0
OA&ZEI S bl 9,400
—HHIZAEHE |2
500,002 * 14JHS 2 * 18] 7,000
—MEMYD| 2RGSA RNES
10,0002 * 24 * 128 2,400
202 01t 5,400 1,800 3,600
01 =L O bl 5,400 1,800 3,600
OMEHIIS Hel 427
150,000 * 3% * 122 5,400
303 ZT&2 19,700 19,700 0
01 Zara 19,700 19,700 0
OTZst & JRI&Y J1RI L 2=32l0
SLsH AND 2,900
—zex 1,000,008 * 140t 1,000
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SN SR
My HOI2 R L Hel

ool HRWES (Etel: & e
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ol AF o8 BlusZ
—R4 500,0008 * 204 S & 1,000
- 300,0008 * 304 S 900
OH souly &8 X3
1,200,000 * 147458t 16,800
401 Al HI L LR 175,500 0 175,500
01 A&l 175,500 0 175,500
OHHIY Hot= &X 4,000,008 * 22044 83,000
OZesteA &1 87,500
—2sRA X2 &3
16,000,008 * 5J§ 4 80,000
-PIEL] 1,500,008 * 5JH A 7,500
HEEE 2T =23 211,000 80,000 131,000
= 16,800
= 12,300
T 181,900
301 Lere A 211,000 80,000 131,000
= 16,800
= 12,300
= 181,900
12 JlEt2 43 211,000 80,000 131,000
OYsHIIS +HEAHI(HHY S)
211,000, 0002 211,000
= 16,800
= 12,300
= 181,900
HWESE SBAL 25 149,640 200,720 ~51,080
201 2Bre | 49,640 49,640 0
01 Ak 22l 5,640 9,640 14,000
O+l 4,940
—HEES RYSE(FY. L UKE S)
5,008 * 55 * 43] 1,300
~HESE 26 2Y 1,908 * 600kg 1,140
~HEESE BREH () 7Y
5,0002 * 50004 2,500
Oml =] 700
~HESE HdEe =5 AY
50,0008 * 14 700
02 BB2H| 44,000 40,000 4,000
OAlEZHIR X bl 14,000
~HEESE €I SN2
1,000,008 * 55 * 23l 10,000
—THEEE A=) KNS (FSI], D440
S) 1,000,0008 * 43] 4,000
OXtea et 30,000
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N Z3 . CA(ZAH) - MPAY - BES Aol a4 Hlw &2
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
—E2Y, XIAX SFTU(EOH
1,500& * 1004 = 180 27,000
—EgH, XIAX =2lbl(&0})
1,500,000& = 2CH 3,000
401 Al HIZ 20HYI 100,000 151,080 251,080
01 A& HI 100,000 150,000 250,000
OS AL WA M & &X
100,000,000& * 14 100,000
Al Z P A2t 56,280 60,280 A4,000
ASM - ZUA 2e) 56,280 60,280 A4,000
2 -EFANE S8 L o5 56,280 60,280 A 4,000
201 Ler2g | 16,920 30,420 213,500
01 At 2teltl 16,920 30,420 213,500
Ogr=ZH| 16,920
—=822 M 2,500
=0 50,000& * 1004 500
SEESHE 4,0008 * 5005 2,000
—RSAE 7o =R 10,0002 * 30024 3,000
DY Y 4L MYIIES 7Y
10,0002 * 7402 + 83 5,920
—29 AQlE SAE SA= MdDIS 7L
25,000& * 100K 2,500
—gpsAmE SAE HAS 2X )7
30,000& * 100K 3,000
202 ¢ddl 5,400 5,400 0
01 SLHA bl 5,400 5,400 0
O HRF& 150,000& * 38 * 12& 5,400
301 et a3 8,960 9,460 A500
10 HAAHIEANS 2,460 2,460 0
ORIMSALA 2t sl 24T AHl24
1,200,000& 1,200
ODHSATAZ SALEs U L8 RHSA
& Asg 20,0002 * 63F * 13| 1,260
12 J|Et2 43 6,500 7,000 A500
OAHIX YIMBAIF(AE , BS)e2s B4
40,000& *» 15% = 103 6,000
ORFSTAS(AYISAE) MDEAZ
100,000& * 524 500
307 2I2tol A 25,000 15,000 10,000
02 QItFAE X 25,000 15,000 10,000
OANMEEZSIE ALY 5,000,000 5,000
OgdursAd sdidxta K&
2,000,000& * 1092 20,000
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SN BN

HH: AR (BB M)
el D=2 (SRS (el &2
5 o SIEN
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRE2
NS YA (BF M) 41,240 54,380 A13,140
Jl2dHl(sZ 2140t 41,240 54,380 A 13,140
Jl23d(sZ M) 41,240 54,380 A 13,140
201 gEt2dd| 23,840 29,680 A5,840
01 AtR2tel 23,840 29,680 25,840
Ogel=gHl 8,000,000& 8,000
O= &l 6,000& » 20 » 11 * 123 15,840
202 ¢4l 12,000 16,800 24,800
01 =2 A b 12,000 16,800 24,800
Oz 50,000& * 2098 * 12& 12,000
203 P =&l 4,200 4,200 0
04 2N2YAREEY| 4,200 4,200 0
ORN2IHRFAHI 350,000& = 123 4,200
204 A= A H| 1,200 1,200 0
01 M MSHIP=HHH| 1,200 1,200 0
OXMGHP A 100,000& = 12& 1,200
Meegs(eZidn) 325,000 325,000 0
HWEAHAHXIE (224D 325,000 325,000 0
TESEPEICEER D 325,000 325,000 0
2 JIsHES 325,000 325,000 0
01 JISdE=Z 325,000 325,000 0
OBDIZHEIAlE =¥ FOIXAII3(Z0H
25,000,000& 25,000
OBIIZHEIAIE =¥ FOIXAIIZ (L)
300,000, 00024 300,000
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